Canonbury Home Learning[image: ]
[bookmark: _GoBack][image: ]Year 5 Maths
Steppingstone activity
Lesson 5
LO: To divide 4 digit by 1 digit numbers with remainders
Success Criteria:
	1. Draw the ‘Bus stop’

	2. Start by dividing the thousands by the divisor and carrying any remainders

	3. Now divide the 100’s

	4. Now divide the 10’s

	5. Now divide the 1’s.

	6. Any amount left over is your remainder.
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Now you try…
6,613 ÷ 5 =         2,471 ÷ 3 =       9,363 ÷ 4 =

Year 5 Maths   
Lesson 5
LO: To divide 4 digit by 1 digit numbers with remainders
You are going to continue practising Division! 
Success Criteria:
	1. Draw the ‘Bus stop’

	2. Start by dividing the thousands by the divisor and carrying any remainders

	3. Now divide the 100’s

	4. Now divide the 10’s

	5. Now divide the 1’s.

	6. 
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Make sure all your answers are in the correct columns!!!

Year 5 Maths
Main activity Lesson 5
Using the same method try these problems – remember to show your working out to prove your answer![image: ]
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Ext- Complete any questions on the grid you didn’t finish yesterday!
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The answer to the division has no
remainders.
Find the missing numbers.

s[ ]2
7[5 8 o[ ]
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The answer to the division has no
remainders.
Find the missing numbers.

s[ ]2
7[5 8 o[ ]
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Always, Sometimes, Never?

A three-digit number made of
consecutive descending digits

divided by the next descending digit
always has a remainder of 1

765 + 4 =191 remainder 1

How many possible examples can you
find?
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Always, Sometimes, Never?

A three-digit number made of
consecutive descending digits

divided by the next descending digit
always has a remainder of 1

765 + 4 =191 remainder 1

How many possible examples can you
find?
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For the calculation 8,035 + 4

*  Write a number story where you round the remainder up.

*  Write a number story where you round the remainder down.
*  Write a number story where you have to find the remainder.
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For the calculation 8,035 + 4

*  Write a number story where you round the remainder up.

*  Write a number story where you round the remainder down.
*  Write a number story where you have to find the remainder.
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I Here is a method to calculate 4,892 divided by 4 using place
value counters and short division.
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